<u>PROPOSAL</u>

to the

BOARD OF COUNTY COMMISSIONERS COUNTY OF MONMOUTH, NEW JERSEY

for the **Project Entitled:**

2023 RESURFACING OF VARIOUS COUNTY ROADS, MONMOUTH COUNTY, NEW JERSEY

RFB #: F-61-2023

The undersigned hereby declares that he/she has carefully examined the Notice to Bidders, Standard Specifications, Addendum(s) to Standard Specifications, these Special Provisions, Form of Contract and Bond for the Project named above; that he/she has carefully examined the site of the Project as provided in Section 102 of the 2007 Standard Specifications and that he/she will contract to carry out and complete said Project as specified and delineated at the prices per unit measure for each scheduled item of work stated in the Schedule of Prices.

It is understood that the total price, stated by the undersigned in the Schedule of Prices-for the various items, is based on the estimated quantities and will control in the awarding of the Contract.

It is further understood that the quantities stated in this Schedule of Prices are estimates only and may be increased or decreased as provided for in the Specifications.

Submitted By:

laws of the State of New Jersey, ha	Liability Company, or a Corporation under wing principal offices at			
CONTRACTOR:L&L Paving Company, Inc				
ADDRESS: 89 Yellowbrook Road - Farmingdale, NJ 07727				
TELEPHONE: (732) 922-6303	FAX: (732) 922-6304			
BY; Lance Redaelli,				
(Printed)				
TITLE: Vice President (Signed)				
DATE: 08/02/2023				

Proposal (continued)

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

2023 RESURFACING OF VARIOUS COUNTY ROADS, MONMOUTH COUNTY, NEW JERSEY

RFB # F-61-2023

BASE BID ITEMS

IT NO	EM ESTIMATI D. QUANTIT		UNIT PRICE	AMOUNT
1.	50,000 Dollar	Uniformed Police Officers Allowance	\$_1.00	\$_50,000.00
2.	61,400 Dollar	Fuel Price Adjustment	\$_1.00	\$ <u>61,400.00</u>
3.	124,100 Dollar	Asphalt Price Adjustment	\$_1.00	\$ <u>124,100.00</u>
4.	50 C.Y.	Excavation, Unclassified (If and Where Directed)	\$ 50.00	\$2,500.00
5.	50 C.Y.	Dense-Graded Aggregate Base Course, Variable Thickness (If and Where Directed)	\$ <u>40.00</u>	\$2,000.00
6.	347,900 S.Y.	HMA Milling, 3" or Less	\$ <u>4.25</u>	<u>\$ 1,478,575.00</u>
7.	11,100 S.Y.	HMA Milling, 3" or Less, Side Streets (If and Where Directed)	\$4.25	\$ <u>47,175.00</u>
8.	250 S.Y.	Hot Mix Asphalt Pavement Repair (If and Where Directed)	\$40.00	\$10,000.00
9.	182,100 L.F.	Polymerized Joint Adhesive	\$1.50	<u>\$ 273,150.</u> 00
10.	34,790 Gal.	Tack Coat	\$4.00	<u>\$ 139,160.</u> 00
11.	26,760 Tons	Hot Mix Asphalt 9.5M64 Surface Course	\$108.00	\$_2,890,080.00
12.	17,670 Tons	Hot Mix Asphalt 12.5M64 Surface Course	\$ <u>108.00</u>	\$ <u>1,908,360.</u> 00
13.	900 Tons	Hot Mix Asphalt 9.5M64 Surface Course, Side Streets (If and Where Directed)	\$ <u>108.00</u>	\$97,200.00
14.	600 Tons	Hot Mix Asphalt 12.5M64 Surface Course, Side Streets (If and Where Directed)	\$ <u>108.00</u>	\$ 64,800.00

Proposal (continued)

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

2023 RESURFACING OF VARIOUS COUNTY ROADS, MONMOUTH COUNTY, NEW JERSEY

RFB # F-61-2023

	STIMATEI DUANTITIE		UNIT PRIC		AM	<u>IOUNT</u>
15. 730 5	S.Y. (Concrete Sidewalk, 4" Thick	\$	118.00	<u>\$_8</u>	<u>6,140.0</u> 0
16. 110 8	S.Y. I	Detectable Warning Surface	\$	300.00	\$ <u>3</u>	<u>3,000.0</u> 0
17. 40 S.		Concrete Driveway, Reinforced, 6"Thick (If and Where Directed)	\$	145.00	\$	<u>5,800.0</u> 0
18. 40 S.		Hot Mix Asphalt Driveway, 6" Thick (If and Where Directed)	\$	75.00	\$	3,000.00
19. 20 S.		Reset Concrete/Brick Pavers (If and Where Directed)	\$	130.00	\$2	<u>2,600.0</u> 0
20. 1,830) L.F. 6	5" x 8" x 20" Concrete Vertical Curb	\$	55.00	\$ <u>10</u>	<u>0,650.0</u> 0
21. 381,0	000 L.F.	Traffic Stripes, Thermoplastic 4"	\$	1.00	<u>\$38</u>	1,000.00
22. 1,000		Traffic Stripes, Long-Life, Epoxy Resin 4" (If and Where Directed)	\$	1.50	\$	1,500.00
23. 6,740	0 S.F.	Fraffic Markings, Thermoplastic	\$	7.00	\$_4	7,180.00
24. 240	Units I	RPM, Mono-Directional, White Lens	\$	50.00	\$ <u>1</u>	<u>2,000.0</u> 0
25. 160 1	Units I	RPM, Mono-Directional, Amber Lens	\$	50.00	\$	8,000.00
26. 1,230	O Units I	RPM, Bi-Directional, Amber Lens	\$	50.00	\$6	<u>61,500.</u> 00
27. 500 1		Removal of Traffic Stripes (If and Where Directed)	\$	1.50	\$	750.00
28. 1 Un	=	Reset Manhole, Sanitary Sewer, Using Existing Casting (If and Where Directed)	\$ <u> </u> 1	,000.00	\$	1,000.00

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

2023 RESURFACING OF VARIOUS COUNTY ROADS, MONMOUTH COUNTY, NEW JERSEY

RFB#F-61-2023

ITEM ESTIMAT NO. QUANTIT		UNIT PRICE	<u>AMOUNT</u>
29. 1 Units	Reconstructed Manhole, Sanitary Sewer, Us Existing Casting (If and Where Directed)	sing \$ <u>3,500.00</u>	\$3,500.00
30. 2 Units	Reset Junction Box (If and Where Directed)	\$ 2,500.00	\$ <u>5,000.0</u> 0
31. 300 L.F.	Loop Detector (If and Where Directed)	\$ 50.00	<u>\$_15,000.0</u> 0
32. 4 Units	Spherical Single Point Camera System	\$_90,000.00	\$_360,000.00
	SUM BASE BID ALL ITEMS: 8,276,1 wo Hundred Seventy Six Thousand One (Written)	(Numeric)	y Dollars and Zero Cents
CONTRACTOR:_	L&L Paving Company, Inc		
BY: Lance R	Redae lli		
ance	(Printed)		·
	(Signature)		
TITLE: Vice	President		
DATE: 08/0	2/2023		